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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T Aigel/ TR o S U § | U Teh H 9/ 79 iR 9T
o o ute g ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uk ' Jehfeush’’ TR T § fIEeh it 3 40 € qe
YRT &1 AT '’ TR 1 & 3T 59 Fel 37k 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

UM Weh & ST, 30 - & A1 o T NuHAR
I YfEeRT R, 9 e 7T SRl % SER & fed ST ¥
WRT ST i SRRl H W Teh o SR el (93 S =1y |

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

T ek o foTQ Afehan Toa e Wen guet FHyifa =t T8
B T S T WG], YN Teh i ST-YReeht STHT
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(| Y9I o 3T € / Answer all the questions)

1.1

1.2

= T T % Ik e foehed feu e |
Toh T ST faehed I 3R 39 I 93 6
1Y YA HF T SATAAR IH T5h
H, 364 fou T 31 o SATER, TS |

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.

(1x10=10)

A T SIMHAd sE H&A1 1110001155 SR
T

(A)
©)

226
228

227 (B)
224 (D)

Which Decimal equivalent of the binary
number 11100011is:

(A) 227 (B) 226
(C) 224 (D) 228
1ITHeR Shsil <1 /I :

(A) e (Fa) 7T 8wk
(B) & (7a) B wha1 §

(©) gwiihe

(D) Wi qff

The value of Primary key :

A) cannot be null
B) can be null

C) duplicate

D

(
(
(
(D) all of the above

1.3

1.4

1.5

faTe 8 :

(A) T HHRTR

(B) Th IR

(C) T 3iqfen fawen
(D) TF Tfex

LINUX is :

(A) a Compiler
(B) an Assembler
©)

(D)

an Operating System

an Editor

TH,3TE. T, 1 U &9 | :

(A) HAH sAHHYA faed
(B) Hied STHMYH faed
(C) e YA fawed
(D) Hifean swmmeA fawen
MIS stands for

(A)
(B) Model Information System
©

(D)

Maintenance Information System

Management Information System

Media Information Source

SHHAR W Hol 3fferen J=T fehan S et
EIESIaE

(A) FITR THART

(B) Y

(©) (A) #R (B) =

(D) ST HE TEl

The most commonly used web browser is:
(A) Internet Explorer
(B) Netscape

(C) Both (A) and (B)
(D) None of the above
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1.7

1.8

AT FT YT HSTAE T

D) W HIE Tl

Memory is used to store BIOS
on Motherboard.

(A) ROM

(B) RAM

(C) CACHE

(D) None of the above

B) TS Tl WA

C) Tiew Fa oo

D) fowen s o

SQL stands for :

(A) Standard Query Language
(B) Structured Query Language
(C) Shortest Query Language
(D) System Query Language

frafafed § 9 $i9 T T9R SuH § 2
(A) T4 (B) HHIX
(C) wiee (D) wreH

Which of the following is a
communication device ?

(A) Printer (B) Monitor
(C©) Keyboard (D) Modem

1.10 S916 Y TE=dl &l

1.9 WRHEWE I8 & 'FEs Te Reid’ Bk &

IUART ek 3T
(A) T8 3R HHET AT I TG Fohd & |

(B) <R Teh SIS o UIS ohl dgel Hehd
g

(C) et HIHfdT I ST Tohd |

(D) SEITSST %l AH Teh T AH o 1Y o5
THA |

Using Microsoft Word's Find and Replace

feature you can

A) replace both text and formatting.

B

~—"

replace text of a document only.

C) replace formatting only.

(
(
(
(D) replace document's name with a new
name.

Yl @S
(A) TR Yoleit

(B) THATSHHS Jomed

(C) <wHSTE Yored!

(D) eI Feifia gomedt

Numbers in base 16 are called as

A) Octal System

B) Hexadecimal System

C) Decimal System

(
(
(
(

D) Binary Numbering System
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

9 feu U g faerer a1 @ W ® Sreen
Tad | Uk ol IUgE fashed g IR 39
T 931 o 1Y IqeTed U T AL TH. AR,
SW Yo o, 3HH fau Tu e & TR <
Exdl (1x10=10)

e, foere wrdl & foau o e,
forgeramita faered B

faen foerudie T & 999 W #E YHR &l
oY T Hehell § |

fewice w9 §, Yetlie § d&aw o] §ifEd
Bt § 3Tk e g WifEd e ¥

PSR, A W A9 TS @A & AT Jam
fera ST STl Ueh HiTeak UM ©

€ HIEA I IHAS AN HfRa T foRar =
Tl 2|

fo¥y ®9 ¥ TR fRA U <resi w U
sfEat, st 9ft Setie W @ 9 & foae
I I E 8, dee RS a9 ¢

ST TH, AR B |

THTH ¢ faen giweat ¢

gfeR dise TEgfa § e, sfifeal frd @ik
THHAYT SIS T 9ehd 2 |

HTSshIETe ToRtd | gerd T Rehie bl gaad

ERIISIRSETIES

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the "OMR" answer sheet
supplied with the question paper,
following instructions therein. (1x10=10)

UNIX is a free, reliable alternative to
Windows XP.

Windows clipboard can hold multiple
pieces of information at the same point of
time.

By default, the numbers are left aligned
and text is right aligned in a spreadsheet.

A Browser is a software program used for
viewing Web pages on the Internet.

Word file cannot be protected by
password.

A series of specially designed documents,
all linked together to be viewed on the
Internet is World Wide Web.

ROM is volatile memory.

MS Word is system software.

PowerPoint presentation can be embed
with sound, video clips and animations.

2.10 In Microsoft Access deleted record can be

undone.
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3. hrem X H fou U vssl SR areisi w1 fHem, wiem Y § fou v fehean gwefua st/ vissl we
SRS 9 Y | 379 forehed Wed o o wry fu e o wH SR, ST ueen | 39H QU T STREN

T YA G, 1 e | (1x10=10)
X Y
3.1 |us SHA-3TT HIgH i ST AT X h (A) gz
o AT ST B |
3.2 |ueh sueor S HiggewH SR ferfggeer #1| (B) |Ctrl+ P
T HATL
3.3 |[gftada Hiftad o9 C) |uHtsTE.
34 |oTEaR. (D) [He 3™
3.5 | g (E) |wieH
3.6 |wEd iz w0 % foru videe (F) [omgd
57 ¢ PR I HE FT F e R (G) |Cul+s
e T
3.8 |strqyfen oy giweam oe Afpem | (H) [qugst
Iu fema ST g1
3.9 [wfidfi % sfaria ferdm AR 3o M [
3.10 |99 2 & feru demn gomelt () |sifgs duer s1ferar
(K) |weidieg
(L) [Tfeex
M) (fered
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3.  Match words and phrases in column X with the closest related meaning/word(s)/phrases in
column Y. Enter your selection in the "OMR" answer sheet supplied with the question paper,
following instructions therein. (1x10=10)

X Y

Data transfer rate of a Dial-up Modem is

3.1 (A) |Information

measured in
3.2 |A device that accomplishes modulation (B) [Ctrl+P
and demodulation

3.3 |Universal serial bus (C) |AVI

3.4 |IPR (D) [Mac OS
3.5 |Processed Data (E) IMODEM
3.6 |[Shortcut to print file (F) |[Binary
3.7 |Itis a file format to store video file (G) [Ctrl+S

3.8 |Operating system software used on the (H) |USB

apple Macintosh
3.9 |Special memory unit within CPU () |[RAM
3.10 |Number system to the base 2 (J) |Intellectual property right
(K) [Kbps
(L) [Register
(M) |Linux
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4. e YOS 9 H S G 9 T 9es A1 91 i fore o fore Rea v femn e B 1 wes Suge
foRed T TR 36 U o o |1 fU T ST AL SR, ' IR Uoek H, 3HH QU MW ST ok STER,
= w | (1x10=10)

(A)

16 (B) |B2C C) |wresX

(D)

g (E) |M2M (F) |Ghz

Calibri H) |=r a1 |8

LAN (K) |wiife e L) [ofiem

fa=n

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10

gfaen shael Faf1d 918 & e il Hidl I § AU Bl G |

T HI I A 2

_ wfa 9w U A fo sfedl & s 1 e TeeE g
T FHX H MT R H AT S L
T TEdl % ary-9ny SY Wieed ot @ Hehd

HAfFed e Yot wEH R

S W SIS o™ 3 IuMiadel & = Uk aifurfedss 3TeM - YeM ol Hfara
% ®9 ¥ fomar S 21

JATRfeT foeen wh TR T
Heoeh SraTelsit sl Teh TR B

I HHIS T T HEA & THE Sl I5e & forg foran S 7
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4.  Each statement below has a blank space to fit one of the word(s) or phrases in the list below.
Enter your choice in the "OMR" answer sheet attached to the question paper, following

instructions therein. (1x10=10)
(A) |16 (B) |B2C (C) |Folder
(D) |Password (E) |M2M (F) |Ghz
(G) |Calibri (H) (Star @O I8
() |LAN (K) |Format painter (L) |Animation
(M) |[System
4.1 facility copies only format of the selected text not the content.
4.2 is a name of a Font.
4.3 is the rapid display of a sequence of images to create an illusion of movement.
4.4 Speed of latest computer is measured in
4.5 can contain files as well as sub folders
4.6 Base of Octal number system is
4.7 A commercial exchange between business and consumers conducted over the internet
is abbreviated as
4.8 Operating System is a software.
4.9 is a type of network topology.
4.10 Unix command is used to change ownership of the file..
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I @ / PART TWO
(Rl = gt o SR e/

Answer any FOUR Questions)

Wevle Gieasl # HhauM sl aRrfea
| TRl o= hTE! o1 o0 Y|

T ¥ g€ § feAfafed =1 see &
1 AT Y

() HA-S I

(i) BEY, B, Fedle R TR |

Define function in Spreadsheet
Software. Describe any five
functions.

Explain following with example in
MS Word :

(i) Mail-Merge.

(ii)) Header, Footer, Footnote and
Endnote. (8+7)

(©)

3-hiad A IS YRaT STEH ) == Y |

AT | R 82 Teliehym
Hicear % fafvs yer =1 8 2

feiEre Senaiu o fofve =2eni 1 =i
|

Discuss the security risks associated

with e-commerce.

What is application software? What
are the different types of application
software?

Describe various components of
Windows Desktop. (5+5+5)

SIe¥M Aideer § 3uerey fue-fae =gt
1 =0 |

Reieel ey HasHe fgeq =1 g2

TEFTE. § frte oa iR o o
HATE & o TR < ?

€& $eNfiel (Database Integrity) T
Hfere feoroit ford |

Describe the different views available
in presentation software.

What is a Relational Database
Management System? Differentiate
between Create Table & View Table
commands in SQL?

Write short note on Database

Integrity. (5+6+4)
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T Y F1 8 ? oA ey §

TsHeye 3R Rafea My @ € 2

G Uit Rt fored gomett 6
FH gefad S et 2

What is a path? What is an absolute
and relative path in Linux

environment?

How Information Technology is
going to impact Indian education

system ?
(7+8)

FoR foen #t 9R Sl swEa
%1 W Y T sciish 3TN Y |
W, T AR 9 AHAR B e for |
"' siifgen HueT Al o SR H He
 wamd |

Draw a block diagram depicting the

four functional units of a computer

system.

Define RAM, ROM and Cache
Memory.

Explain briefly "Intellectual Property

Rights". (5+5+5)

-00o0-
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